107}

~
=
D
=
Q
o
O
=
o]

(0 ¢) (rad)

N
S
iy
T |||||||I
—_—

1072

T IIIIIIII

<+ v

—A—
m

1073

LR
L3

107 L .......i coaabnlidl .......i L

......... [N | S -

107 1

Ratio

9

o
h
=

2 3 “
TPlpoT (PCA t%obeamliné[f) 1
—=— DQMstep3_SoftQCD_CKF

—e— DQMstep3_SoftQCD_default
—+— DQMstep3_SoftQCD_defaultNEWT2

=~ 1 —~
= : 1]
) G
2 e
= =
< -
> o
o o
3 ©

107

1072

L : 5
2 3
TPlp?T (PCA t%obeamliné'p

-1 2 3
10 ! TPlp?T (PCA tjbobeamliné'f)

—
- T
o T R H
= H | :
D- :ll-
o I
- .
] :

¥

[any
<
i

107 1



	Contents
	Page 1


